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'_'ﬂtﬂmpt ﬂ:ny ﬁue qugsgmns Iselecting.one. qr.-:estmn. Jfrom each untt, All ques!mna carry. equal marks,
Schemﬂfm mgrams*r;auswe Shoton wherever necessary. Any. data you feel missing suitably be assum od

;;;Qﬁ@%tatéd cleﬂﬁy é[fm;ts ‘of ‘quantities uséd/caléulated must be stated clearly,)..-
| & Smit=r If a request from process P‘J arrives (0, 1, 2) can
the request be granted immediately? What 1s the
1. (a) What are the main functions of an npemtmg system? "t comtent of need mateix? /5]
_ Explain the types of operating systeéms in brief. [8] . ¢b) What is deadlock? What are the cecessary
-+ (b) How an operating system works as a resource _ conditions to oceur the deadlock” What are the
mangger afd vertical' machine? e I8 various methods to recover trem the deadlock?IR]
b (OR
1. (a) What lsapmc‘éss‘? What is th¢ difference between 3. (a) Explain free space msiagement usine “i map.
Yol prnffram and a process? Explain PCB using a linked iist/frec Lise. |8]
. suitable example. 18} (b). “aplain the difierence between logical and physical
() Explain the following : zddess space. Explain fragmentation. What arc
(“*} Kf‘mt‘”ﬁﬁ thread the various solutions for external fragmentation?|8]
; o "!ﬁ:*.““"'-- R
'{} V) Mm::ﬁ::a ding OS (2x4=8] 4. () \"«.f']mththedlﬁeren::ebema,n Pager and Swi ipr:fﬁ[ﬁl
s G 3 (b) What is demand paging? S
| {-‘gﬁﬁit-‘ﬂ’} f tc) What is thrashing? - . 3
2. (a) What is crifical section problem? Explain the role of v, (d) Write short note on TLB. (4
| lock variable and TSL instruction in busy waiting.[8] -~ - a OR
(b) Consider the fﬂllﬂwmg 8t Ufpruﬂesses with arrival - 4. (a) Consider 3 page fiames-a~ & ibe toflowing reference
nmeaand (;PU burst time given in ms. 2 ctring usipe. FIFT} quee mecfizcement almrnhm e
,_ E‘ma«ess Anwa!ium: Burst time Cabrptlure -E-EL qwinie:: vi vage Sends ia eao)
T O ) B e reivrence string : [,iL:;
P, ; : 70120304230321201701
[Phj 3 5 (b) Whatis virt}i&l memory? Explain the use of virtual
What is the average waiting time for these processes memory using a suitable example. 6]
with preemptive SIF scheduling? _ [8] ;i:-Unit__qp :;
OR) 5. Suppose a disk drive has 200 cylinders, numbered from
2. (a) What is dining-philosophers problem? Explain the 0 to 199. The drive is initially at evlinder 53, The
solution of this problem by using a suitable example.[8] queue with request from 1/0 to blocks in eylinders:
(b) What is the difference between preemptive and 5 (16]
non-preemptive scheduling? (4] 08183 37 122 14 124 65 67
(¢) Explain the turnaround time and response time. [4] Count the total head movements of cvlinders in
@Uﬁf‘ﬂlii‘ (i) SCAN Scheduling
3. (a) Consider the following snapshot of the system. (i) C-SCAN Scheduling.
- Allocation Max Available OR
Process A B C|A B C|A B C 5. Write short notes on :
Po 6 1 817 § 313 3 2 (1)  Directory structure i Linux
Py 2 0 044 & ¢ (i) File Naming
P, 3 0 209 0 2
P, v 1 112 2 {IIII:I M yehie gr;tpln.
P, 0o 0 214 3 3 (1v) Fite orgamization 144ty

JCOom




